

RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

# NOTICE TO EXECUTE FRAMEWORK AGREEMENT

Resolution No.: HBAC-A2 RESOLUTION NO. 0159 s. 2024

02 February 2024

GLOBO ASIATICO ENTERPRISES, INC. JDK Bldg., 127 Maginhawa St. Teacher Village Quezon City Tel No. 8982-7000 local 7086

Dear Sir/Madame:

This is to inform you that the Hospital Bids and Awards Committee - A2 (HBAC-A2) for the Early **Procurement Activity (EPA) of Various Drugs and Medicines CY 2024** has found you to have submitted the *LOWEST, SINGLE CALCULATED AND RESPONSIVE BID* for the Procurement of the following item/s under *PIN NO. 2024-DM-026 and NO. 2024-DM-032 / ITB NO. 2024-DM-026 and NO. 2024-DM-032 opened last 5 December 2023* and you are hereby issued this **NOTICE TO EXECUTE FRAMEWORK AGREEMENT**:

| Item<br>No. | Item Description   | BRAND/<br>COUNTRY OF<br>ORIGIN | QTY.   | UNIT   | UNIT PRICE<br>(PhP)      | TOTAL PRICE<br>(PhP) |
|-------------|--|--------------------------------|--------|--------|--------------------------|----------------------|
|             | BLOOD PRODUCTS   |                                |        |        |                          |                      |
| 14          | Epoetin Beta<br>(Recombinant<br>Erythropoietin) 5,000<br>IU/0.3 mL, pre-filled<br>syringe with needle VAT-<br>EXEMPT | RECORMON /<br>GERMANY          | 3,600  | pfs    | 960.53<br>VAT-<br>EXEMPT | 3,457,908.00         |
| 15          | Filgrastim (G-CSF) 300<br>mcg/0.5 mL, solution pre-<br>filled syringe  | AMBIGRAST /<br>INDIA           | 6,000  | pfs    | 888.00<br>VAT-<br>EXEMPT | 5,328,000.00         |
|             | ONCOLOGIC DRUGS  |                                |        |        |                          |                      |
| 1           | ANASTROZOLE Oral: 1mg<br>tablet BLISTER PACK<br>(VAT-EXEMPT)   | ANATERO /<br>INDIA             | 36,000 | vial   | 17.00<br>VAT-<br>EXEMPT  | 612,000.00           |
| 6           | Capecitabine 500mg tablet<br>BLISTER PACK (VAT-<br>EXEMPT)   | CAPETERO 500 /<br>INDIA        | 21,600 | tablet | 22.00<br>VAT-<br>EXEMPT  | 475,200.00           |

W CHEL/Jen

Page \_\_\_\_ of \_\_\_\_



### Republic of the Philippines Department of Health JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

| 10          | Cisplatin Inj.: 1 mg/mL, 50<br>ml vial <b>(VAT-EXEMPT)</b>                            | CILATIN 50 /<br>INDIA | 3,156  | vial   | 310.00<br>VAT-<br>EXEMPT    | 978,360.00    |
|-------------|---|-----------------------|--------|--------|-----------------------------|---------------|
| 25          | Gemcitabine 1g vial <b>(VAT-</b><br>EXEMPT)   | GEMTERO /<br>INDIA    | 2,280  | vial   | 900.00<br>VAT-<br>EXEMPT    | 2,052,000.00  |
| 26          | Gemcitabine 200mg vial<br>(VAT-EXEMPT)  | GEMTERO /<br>INDIA    | 600    | vial   | 301.00<br>VAT-<br>EXEMPT    | 180,600.00    |
| 34          | Letrozole 2.5mg tablet<br>BLISTER PACK  | LETERO / INDIA        | 36,000 | tablet | 11.00<br>VAT-<br>EXEMPT     | 396,000.00    |
| 46          | Rituximab 10 mg/mL, 50<br>mL vial <b>VAT-EXEMPT</b>                                   | MABTHERA /<br>GERMANY | 60     | vial   | 33,150.00<br>VAT-<br>EXEMPT | 1,989,000.00  |
| 52          | Zoledronic Acid 4mg/ 5mL<br>concentrated solution for<br>IV infusion (VAT-<br>EXEMPT) | ZOLETERO 4 /<br>INDIA | 2,436  | vial   | 1,090.00<br>VAT-<br>EXEMPT  | 2,655,240.00  |
| GRAND TOTAL |   |                       |        |        |                             | 14,400,000.00 |

Note: Ordering of the above-mentioned item(s) depends on the needs of the patient

**Delivery Instructions:** 

Please refer to Call-Off Order.





RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

# INSTRUCTIONS:

If you have no corrections to the contents of this Notice, please submit Performance Security within *Five* **(5)** *Calendar Days* from receipt hereof. The original copy of the NEFA should be signed and claimed at the BAC Secretariat Office. Failure to sign the NEFA and submit the Performance Security within the prescribed period shall constitute sufficient grounds for cancellation of the Award.

Very truly yours,

WENCESLAO S. LLAUDERES, M.D., MPM-HG Medical Center Chief II Junt Ho Medical Center Chief II

CONFORME:

PRINTED NAME/POSITION

SIGNATURE

DATE



Page \_\_\_\_ of \_\_\_\_



#### Republic of the Philippines Department of Health JOSL R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

# NOTICE TO EXECUTE FRAMEWORK AGREEMENT

Resolution No.: HBAC-A2 RESOLUTION NO. 0061 s. 2024

17 January 2024

GLOBO ASIATICO ENTERPRISES, INC. JDK Bldg., 127 Maginhawa St. Teacher Village Quezon City Tel No. 8982-7000 local 7086

Dear Sir/Madame:

This is to inform you that the Hospital Bids and Awards Committee - A2 (HBAC-A2) for the Early **Procurement Activity (EPA) of Various Drugs and Medicines (ONCOLOGIC DRUGS) CY 2024** has found you to have submitted the *SINGLE CALCULATED AND RESPONSIVE BID* for the Procurement of the following item/s under *PIN NO. 2024-DM-032 / ITB NO. 2024-DM-032* opened last 5 December 2023 and you are hereby issued this NOTICE TO EXECUTE FRAMEWORK AGREEMENT:

| Item<br>No. | Item Description  | BRAND/<br>COUNTRY OF<br>ORIGIN    | QTY.  | UNIT | UNIT PRICE<br>(PhP)        | TOTAL PRICE<br>(PhP) |
|-------------|---|-----------------------------------|-------|------|----------------------------|----------------------|
|             | ONCOLOGIC DRUGS   |                                   |       |      |                            |                      |
| 48          | Trastuzumab 150 mg<br>Lyophilized Powder (VAT-<br>EXEMPT) | HERZUMA /<br>REPUBLIC OF<br>KOREA | 3,600 | vial | 4,000.00<br>VAT-<br>EXEMPT | /<br>14,400,000.00   |
| GRAND TOTAL |   |                                   |       |      |                            |                      |

Note: Ordering of the above-mentioned item(s) depends on the needs of the patient

## **Delivery Instructions:**

Please refer to Call-Off Order.



RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

## INSTRUCTIONS:

If you have no corrections to the contents of this Notice, please submit Performance Security within *Five* **(5)** *Calendar Days* from receipt hereof. The original copy of the NEFA should be signed and claimed at the BAC Secretariat Office. Failure to sign the NEFA and submit the Performance Security within the prescribed period shall constitute sufficient grounds for cancellation of the Award.

Very truly yours WENCESLAO S. LLAHDERES, M.D., MPM-H Officer-in-Charge

CONFORME:

PRINTED NAME/POSITION

SIGNATURE

DATE